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Area between Curves
Choose the correct answer from the given ones :

(1) ! In the opposite figure :

The area of the region bounded by the two curves [
y_:xz N y:lxlequals ................ 2
0 1 X\ 1 X
(a) 2 lj (X2 -5 d% (b)oj (X=X d X e IR
1 . 1 %

(c)zoj - % ) ]j - %%Hd X y

(2) L} In the opposite figure : v
i
The area of the region bounded by the curve
y=X 3 and the straight line y = X equals ---coeoo- 5 : "
1 1 -
(a) ]j xP=xd X (b)zoj (X% =20 d X A‘l -
1 I

(c)oj R=XHax (d)zoj —xHdx ™
(3 ) _ The area of the region bounded by the straight lines

y=XsX=2 5 y=0equals ---ereeeeeee: square units.

@) 3 (b) 1 ()2 (d) 4
(4) The area of the region bounded by the curve y = X 3 and the straight lines

y=0 s X =2equals --reoeeeenees square unit.

(a) 8 (b) 4 (c) 2 (d) 1

( 5) ! The area of the region bounded by the straight linesy=2X-3 s y=X+1

5% = 2 equals s

(a) 2 (b) 3 © 3 d) 6
(6 ) . The area of the region bounded by the curve y =W/—4——X2

and X-axis equals oo square units.

(a) 2 (b) 4 ()27 (d) 47

( 7 ) In the opposite figure :

It is a part of a curve f (X) in the interval [a 5 b]

» then if the area m equals 5 square unit x 3
-5 \ —
and area n equals 3 square unit \l ’ L\‘:b
y i
b
,thenaj f(X)dX= ................
(a)-5 (b) 4 (c)2 (d) 8
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Area between Curves

( 8) LI In the opposite figure : y
If A, = 5 square units » A, = 2 square units A
» A5 = 8 square units / \ /\\
5 5 ¥ fA X
,then_zj f(x)dX+_2j Fac L pe— %o b i
(a) 15 (b) 20 N
(c) 22 (d) 26 i
(9 ) In the opposite figure : lyz(x_ o2

If the area of the shaded region = % square units »

(b) 1 I

1

2

2 o)
(¢) 5 (d) 2

(10) In the opposite figure :

If the area of the shaded region = 2 square units »

then k — e i

iy (b) 3 e |
X, : | P

(c)4 (d) 5 (\) ! e

(11) The area of the region bounded by the curve Xy =4 , X-axis and the two straight
lines X=1 » X= 3 equals ................
(a)2In3 (b)41n3 (¢)3In3 (d)3In4

Ailgdl) ol o Jpandl g (358l apaadl ciliial) cubl aa
Jellae daaa s

Ly ol il jla¥) U ga A ale 29 Baal cilualy ) Bala pad

0507374551 ) sill
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Area between Curves
Find in each of the following the area of the plane region bounded by :

(1)Thecurve:y=2- X ? and the straight line : X +y =0 % square units »
(2) The two curves : y+ X2=6 » y+2X-3=0 «%zsquarcunit.\ »
(3) The curves of the two functions f (X) =2 X % g(X)=2X+4 «9square units »
(4 ) The twocurves:y = X2 sy ==X «4 % square units »
(5)Thecurve:y=9 - X ? and the straight line : y =5 « ‘%:squure units »
( 6 ) The curve : y=—X2+ 1 » and the straight line : y = % X+3

and the two straight lines : X=-2 » X=1 «=7 square units »
(7 ) The curve : y = X — X and the straight line : y =2 X

and the two straight lines: X=-2 s X=3 « 13 square units »
(8 )Thecurve:y= X2 -2 X and the straight line : y = X % square units »
(9)Thecurve:y= 3\/3(_ and the straight line: y =3 X % square units »

(10) The curve : y, =’\/; and the straight line : y, = X — 2 and the y-axis.

e 3 :
« D = ¢ are S >
k3 square units »

(11) The two curves : y = % X%andy= ZV; «5 1 square units »

(12) The curves of the two functions f (X) = G o M g(X)=3-(X+ 1)2

« 9 square units »
(13) The two curves : y=7+2 X - %= y=(X- 1)2 «21 % square units »
(14) The two curves : y =9 — x? 5 y= X? + 1 and the two straight lines

X=0 » X=3 « 15 —L— square units »
(15) Thetwocurves:y=9-X? » y = X2 + 1 and the X-axis

o0

and the two straight lines X=0 s X=3 « == square units »
Em— — A3 ., 3P : :

(16) The two curve : y —v; s y=X « 3 Square units »
(17) The two curves : y = x3 -4X 5 y=4X- x3 « 16 square units »
(18) The two curves : y=sin X s y=cos X and the

two straight lines : X=0 » X= -Jf— « ({2 = 1) square units »
(19) The two curves : y = Xt%1s y=2 x> « i? square units »
(20) The curve : y = X and the two straight lines y =8 and X =0 « 12 square units »
(21) The curve : y = X3 - X and the straight line : y =0 « L square units »
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Area between Curves
Find in each of the following the area of the plane region bounded by :

(1) The straight lines : X+2y=9 s X=1 5 X=3 , y=0 « 7 square units »
(2)Thecurve:y= X2~ 5 X and the X-axis « 20 % square units »

(3) The curve : y =5 — X ? and the X-axis and the two straight

lines ; X=—2and X=1 « 12 square units »
(4) The curve : y = 6 X — X2 and the straight liney =0 « 36 square units »
(5) Thecurve :y=3-2X-— X 2 and X-axis «%lsquare units »

(6) Thecurve:y=3+2X- X 2 and the straight lines X = — 1
yX=4 5, y=0 « 13 square units »

(7 ) The curve : y = X* + 3 and the X-axis » the y-axis and the straight line : X = 3

« 18 square units »

(8) The curve of the function f : f (X) =3 X% + 1 and the X-axis and the two

straight lines : X=-1 5 X=2 « 12 square units »

(9) The curve : y =‘\/ 4 X and the straight line X=9andy =0 « 36 square units »

(10) The curve : y =‘V X + 4 and the straight lines : X=0 s X=5andy=0

2Q

38 e
«=3= square units »

(11) The curve : y = V 2 X + 4 and the straight line : X=0 , y=0 «~§— square units »
(12) The curve : y :‘\/ 1 - X and the straight line : X=-3andy =0 « 51 square units »

3
(13) The curve f : f (X) = \J 2 X + 2 and the straight line : X = 3 and above the X-axis.

« 6 square units »

-

(14) Thecurve:y= j and the straight lines X=1 s X=4 , y =03 square units »

(15) Thecurve :y=e X and the straight lines : X=0 s X=In4andy=0 «3square units »

(16) The curve : y = ¢ X and the straight lines : X=0 5 X=In3andy=0 «4square units»

(17) The curve : y = sin X and the straight lines : X=0 » X= % andy =0

« 1 square unit »

(18) The curve : y = cos X and the straight lines : X=0 » X= % andy=0

« | square unit »
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Definite Integration

Complete each of the following :

(l)bfb(5x2+3)4dx= ................

(2)efe'd7xd= ................

(3) L If a function f is continuous on the interval [2 5 7]
7 4
,thenzf f(X)dX+7f L I 9 1 R, e —
(4) . If a function f is continuous on the interval [1 5 4]

4 1
,thenlf f(X)dx+4f F LX) = <ormrrorninens

(5)Iflf4f(X)dX+2bf8f(X)dX=IJ‘Sf(X)dx,thenvalueofb= ...........

(6)If [KBX>-1)dX=K -2 sthenk= o

(7)If7fa(4X—l)dx=9 ) aEZ+ s Then a =:swssssvmunin

(8,)If(0faXdX)3=0faX3dX s aERTY sthen a = -vereerrevnenis

(9)Ifjfmf(X)dx+8f“f(X)dX+lofgf(X)dX=9

11
athenzf FOOAX = s

(10)1felnde= ................

T

(ll)ﬂfZ(X3+81nx+taHX)dX= ................
4

In

(12)If1nbf "eXdx=2 5 a2y e 19 sithen aes s

T
- 0
(13) [osin*XdX+x [ cos®XdX =
’ 6

’ b 2 2
(14)Ifa<2<band [ |x_2|dx=4,thena’+l;’= ............
a—+

> 2 K . 2 x2
A5) [ X+6)"e” dx- [ (X—-6)2eX dX =
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